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2. ATUUTF# A5 0 @& £(AT) ~ enthalpy change (AH) - internal energy change (AU) ~ entropy change
(AS) ~ Gibbs free energy change (AG) ~ heat (Q) ~ work (W) » R4 18 & & ?
(1) ideal gas i# 4T isothermal process °
(2) ideal gas i# 4T free expansion -
(3) ideal gas 47 reversible and adiabatic process = (15%)

3. A—EAEM/EEEENS 2mole 4 ideal gas > KB RBMH S 300K & 5 # B 0018 8 T i 64 7
KA RAR 42 2 9 K b4z F ¢4 enthalpy change(AH) - entropy change (AS)#s Gibbs free energy
change (AG) ? (20%)

4. Anideal gas has a volume of 0.0124 m® mol ~! at 25°C and 2 bar. In the following problem, air may
beconsidered an ideal gas with the constant heat capacities
Cy=20.785J/mol « K and C,=29.099J/mol + K
The initial conditions of the air are 2 bar and 25°C. It is compressed to 6 bar and 25°C by the following
process : cooling at constant pressure followed by heating at constant volume. Calculate the heat and
work requirements and internal energy change AU and enthalpy change AH of the air for the process.
(20%)

5. With respect to 3 kg of liquid water( C,=4.184 kJ/kg * K ):
Initially at 0°C, it is heated to 100°C by contact with a heat reservoir at 100°C. What is the entropy
change of the water? Of the heat reservoir? What is the total entropy change AS;gw? (1 5%)

6. The molar heat capacity of an ideal gas A is given by the formula,
C, (JK 'mol™)= 8 + 0.006 T
Find the enthalpy and entropy change if 3 moles of the ideal gas are heated from 27°C to 127°C?
(15%)
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